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(a) a linked list

(b) a hash table

(c) a binary search iree

9. (12%) F @4 16 484
22, 36, 6, 79, 26, 45,75, 13, 31, 62, 97, 76 A A
S5 a1 B e A 0k AT kA

(a) quick sort

(b) insertion sort

{c) heap sort

(d) radix sort, MAME%E range 0-9 ) R 8 #F (digits)

i B A

6. (30%) Consider the graph below. (a) Please design a data structure to implement
the depth-first search. Then, please show the contents of the data structure and the
traversal visits the vertices in the arder beginning at vertex “a” using depth-first
search. (b) Please design a data structure to implement the bread-first search and
then show the contents of the data structure and the traversal visits the vertices in
the order beginning at vertex “a” using breadth-first search. (c) Write a program
using Prim’s algorithm to find a minimum spanning tree of the graph beginning at

L 5%

vertex "a’.
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7. (12%) Please implement the stack by using an array.
#define MAX_STACK 100;
typedef int ITEM_TYPE;
typedef struct stack_type {
ITEM_TYPE item[MAX_STACK];
int top;
} STACK_TYPE;
void create_stack (STACK_TYPE *stack);(2%)
void destory_stack (STACK_TYPE *stack); (2%)
BOOLEAN empty_stack (STACK_TYPE *stack); (2%)
BOOLEAN full_stack (STACK_TYPE *stack); (2%)
void push (STACK_TYPE *stack, ITEM_TYPE new_item);(2%)
void pop (STACK_TYPE *stack, ITEM_TYPE *old_item);(2%)

8. (8%) Explain the following terms:
(a) ADT
| (b) Data type
(c) Array
(d) Data structures






